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1|BHE—DMER[ 27| 1 | #%& | RC | 3 |S54.3| H11 0.39 H26 0.71 1,315
2 2 | & | RC| 3 |[S855. 3| H11 0.39 H26 0.71 1,732
3 29 EBik| S 2 | s54.3| H18 0.18 H21 0.80 762
4 30 %& | RC| 3 |[S855.3| H11 0.59 H26 0.72 1,113
5|BFHE Z/INFR| 22 & | RC| 4 |S52. 2| H11 0.42 H15 0.71 2,668
6 25 EBik| s 1 | S54.3| H18 0.21 H21 0.75 768
71IBHEZNER] | B& | RC 4 | s53.3| H11 0.38 H22 0.79 3,581
8 8 Bix| S 1 |sS54.12| H17 0.33 H24 0.74 760
of RILO/MhE#E: | ¢ B®E | RC 3 | s52.1 | H11 0.29 H18 0.73 2,535
10 2 & | RC| 3 |S52.1| H11 1.00 = - 99
11 3|1 |®&| RC| 38 [s852. 1| H11 0.30 H18 0.75 517
12 2 | #®%& | RC| 3 [S52. 1| H11 0.30 H18 0.75 1,320
13 6 EBik| S 2 | s52.2| H18 0.24 H21 0.72 817
14| FKOPMER | 1| 1 | %2 | RC 3 | s52.1| H11 0.53 H20 0.73 1,347
15 & | RC| 2 |S52.1| H11 0.53 H20 0.73 376
16 3| ®&| RC| 3 [S52. 1| H11 0.53 H20 0.73 208
17 2 B&| S 2 | S52. 1| H11 0.83 T - 94
18 3 & | RC 3 | s52.1 | H11 0.39 H20 0.75 2,974
19 5 EBik| s 2 | s52.2| H18 0.44 H25 0.83 821
200 FALNER | 1|1 |#&&| RC| 3 |S52. 1| H11 0.61 H27 0.72 358
21 2 | & | RC| 3 [S56.3| H11 0.61 H27 0.72 279
22 3| ®&| RC| 3 [S52. 1| H11 0.61 H27 0.72 1,672
23 4 [#%&| RC| 3 [S56.3| H11 0.61 H27 0.72 325
24 BE& | RC 3 | s52.1 | H11 0.53 H27 0.72 3,082
25 1| ®%&| RC| 3 |S52.1| H25 0.66 H27 0.73 109
26 2 | & | RC| 3 [S852.1| H25 0.66 H27 0.73 10
27 BA| RC| 2 |s52.2| H18 0.27 H22 0.76 817
28| BHPFER & | RC| 3 |s44.3]| H11 0.39 H16 0.76 1,963
29 21 EBik| S 2 | s49.5| H17 0.34 H23 0.89 1,735
30| RKILAFZEE | 4 K& | RC 3 | s52.1 | H11 0.31 H24 0.72 3,190
31 2 B& | RC 3 | S52.1| H11 1.47 T - 131
32 1| ®&| RC| 3 |S52.1| H11 0.34 H24 0.70 1,630
33 2 | & | RC 3 | s52.1| H11 0.34 H24 0.70 300
34 7 EBix| s 2 | s52.2| H17 0.44 H25 0.79 855
35| FALIPFER | 1 K&| RC| 3 |[sS52.1| H11 0.41 H27 0.74 2,357
36 21| ®&| RC| 2 [S852.1| H25 0.55 H27 0.76 1,748
37 2 | & | RC| 2 [sS52.1| H25 0.55 H27 0.76 366
38 & | RC| 2 |S52.1| H11 1.71 = — 85
39 Bk 2 | s52.2| H17 0.04 H19 0.70 1,048
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